NO/PW/TLD/Tender/2022:-To Himachal Pradesh
Public Works Department
350 - 56 Dated

Dated:- 17/4/23

Executive Engineer IT Cell), Nirman Bhawan, Nigam Vihar, Shimla-2

Subject:-

Publishing of Tender Notice.

Dear Sir,

Enclosed please find herewith the tender Notice of work as given in the Notice Inviting Tender for uploading on Department website as per Notification No. Principal Secretary (PW), to the Govt. of HP letter No. PBW (B) 1/2020 dated Shimla-2 the 16th July, 2021 as the work mentioned in the tender notice are urgent in nature and in public interest.

DA:- NIT.

Executive Engineer,
Thalout Division HPPWD,
Thalout.

Copy is forwarded to Superintending Engineer, 1st Circle, HPPWD Mandi for information please.

Copy to All the Assistant Engineers working under this

Division.

Copy to AB/DB in this office. Copy to Notice board.

Executive Engineer, Thalout Division, HPPWD, Thalout.

HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT "NOTICE INVITING TENDER"

Sealed Percentage rate tender on form 6&8 are invited by the Executive Engineer, Thalout Division HPPWD Thalout for the following work from the approved and eligible contractors enlisted in HPPWD. So as to reach in his office on or before 26.04.2023 upto 11.00 AM and will be opened on the same day at 11:30 AM in the presence of interesting contractors or their authorised representatives who may like to be present, if it happen to be holiday on the tender will be open on next working day. The application for obtaining the tender form will be received upto 11:00 AM on 25.04.2023 and EMD should be attached during the submission of application for obtaining the tender form, without Earnest Money & cost of tender form, application will not be accepted.

The earnest money in the shape of FDR National Saving Certificate/Time deposit accounts/Saving account in any of the Post Office and Banks of Himachal Pradesh duly pledged in favour of the Xen must accompany with each tender, Conditional tender and the tender received without earnest money will summarily be rejected. The earnest should be attached with application. The offer of the tender shall be kept open for 90 days. The Executive Engineer reserves the right to reject the tender without assigning any reason.

Sr. No.	Name of work	Estimated cost	Earnest money	Cost of form	Time Period for completion	Form No.	Eligibility of Contract ors
1	A/R and M/O Non Residential Building (Landscaping with in and around HPPWD Rest house at Thachi Distt. Mandi HP (SH-Providing and laying of local stone, slate for path).	2,56,627/-	5200/-	Rs. 350/-	One month	6&8	Class C & D enlisted in HPPWD
2	A/R and M/O Non Residential Building (Landscaping with in and around HPPWD Rest house at Thachi Distt. Mandi HP (SH-Providing and laying of stone for path and entrance plaza).	3,72,079/-	7500/-	Rs. 350/-	One month	-do-	-do-

TERMS & CONDITIONS: -

- The Tender form will not be issued to those contractors whose performance is not found satisfactory.
- The Contractor whose rates are abnormally low may be asked to furnish the full justification of his rate failing which he will be debarred to complete in tendering for four months.
- 3. The Contractor must be ensured that he is not having more than two works in hand and their detail must be prescribed in the proforma & attached with the application and only upto completion of work satisfactory including adherence to quality parameters further work will be awarded to him & two jobs shall be considered in one application subject to above.
- The rates beyond the limit over +5% will be rejected besides this the Additional Performance security will have to borne @ 20 % & 30 % for unbalanced bid in case the rates is lower than 10 % but upto 20 % & lower than 20 % upto 30 % respectively. The tender will be accepted beyond the limit of -30 % also.

NO/PW/TLD/Tender/2022:-

330-49

Copy forwarded to the following for information and necessary action:-

- 1. The Engineer-in-Chief HPPWD Shimla.
- 2. The Deputy Commissioner Mandi Distt. Mandi HP.
- 3. The Sub Divisional Officer Balichowki, Distt. Mandi HP.
- 4. The Chief Engineer, (MZ) HPPWD Mandi.
- 5. The Superintending Engineer, 1st Circle, HPPWD Mandi HP.
- 6. The Distt. Panchayat Officer Mandi HP.
- 7.All AEs under this Division.
- 8. The President of Contractor's Association.
- 9. Notice Board/Accounts Branch/Drawing Branch/Supdt. With spare copies.

Executive Engineer, Thalout Division. HP.PWD Thaloud

Executive Engineer,
Thalout Division,
HP.PWD Thalout.
Dated:- 17/4/2-3

Dated:-

Certificate

Certified that the tender called vide this office letter NO. PW/TLD/Tender/2022-330-49 dated 17.04.2023 is emergent nature and in Public interest.

Executive Engineer,
Thalout Division, HPPWD,
Thalout.

SHEDULE OF QUANTITY Tender Inviting Authority: Name of work:- A/R & M/O Non Residential Building Landscaping with in and around HPPWD Rest House at Thachi Distt. Mandi H.P.SH:- Providing and laying of local stone slate for path. Contract No: Estimated cost :- Rs. 2,56,627.00 Earnest Money: - Rs. 5,500.00 Time -One Month Name of the Bidder/Bidding Firm/Company: SI. Description of work No.of Unit Estimated Total amount Total amount with all taxes with all taxes No. Qty. Rate including GST in words including GST (in. Rs.) in Rs. P Rupees Sixty Three Thousand Providing and laying concrete for plain concrete 1:3:6 (one cement: Three sand: Six 10.92 Per 5771.80 63028.00 graded/crushed stone aggregate) 40 mm (forty milimetre) nominal size in open Cubic &Twenty Eight Only foundation including form work and curing complete as per drawing and technical Metre specification Clause 802,803,1202 and 1203 including carriage of material with in all Providing and laying Local stone / slates in courtyard flooring 3 inch thick with plus / Rupees One Lakh Ninety 111.52 Per 1736.00 193599.00 minus 1 inch of uniform shape and size, the size and laying pattern will be including Three Thousand Five Hundred Cubic carriage of material with in all leads and lifts and other incidentals and as per the & Ninety Nine Only Metre direction of the Engineer-in Charge. Rupees Two Lakh Fifty Six 256627.00 Total:-Thousand Six Hundred & Twenty Seven Only

Executive Engineer, Thalout Division B&R, HEPWD Thalout

SHEDULE OF QUANTITY

Tender Inviting Authority:

Name of work:- A/R & M/O Non Residential Building Landscaping with in and around HPPWD Rest House at Thachi Distt. Mandi H.P.SH:- Providing and laying of stone for path and entrance plaza.

Contract No:

Estimated cost :- Rs. 3,72,079.00 Earnest Money :- Rs. 7,500.00

Time - One Months

SI. No.	the Bidder/Bidding Firm/Company: Description of work	No.of Qty.	Unit	Estimated Rate (in. Rs.)	Total amount with all taxes including GST in Rs. P	Total amount with all taxes including GST in words
1.00	Earth work in surface excavation not exceeding 30 cm (Thirty centimetre) in depth but exceeding 1.5 m (One point five metre) in width as well as 10 Sqm (Ten square metre) on plan including disposal of excavated earth up to 50 m (fifty metre) and lift up to 1.5 m (one point five metre) as per directions of Engineer in Incharge: All kinds of soil including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge	130.97	Per Square Metre	71.90	9417.00	Rupees Nine Thousand Four Hundred & Seventeen Only
2.00	Supplying and stacking of good earth at site including royalty and carriage upto 5 km lead complete (earth measured in stacks will be reduced by 20% (Twenty percent) for payment) including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge.	72.89	Per Cubic Metre	492.00	35862.00	Rupees Thirty Five Thousand Eight Hundred & Sixty Two Only
3.00	Supplying and stacking at site dump manure from approved source, including carriage upto 5 km (Five kilometre) lead complete (manure measured in stacks will be reduced by 8% (Eight percent) for payment): 2.4.1 Screened through sieve of I.S. designation 20 mm (Twenty milimetre) including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge		Per Cubic Metre	2642.58	19238.00	Rupees Nineteen Thousand Two Hundred & Thirty Eight Only
4.00	Providing and laying concrete for plain concrete 1:3:6 (one cement: Three sand: Six graded/crushed stone aggregate) 40 mm (forty milimetre) nominal size in open foundation including form work and curing complete as per drawing and technical specification Clause 802,803,1202 and 1203 including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge		Per Cubic Metre	5771.80	13852.00	Rupees Thirteen Thousand Eight Hundred & Fifty Two Only

5.00	Dismantling existing railing for raising stone masonry including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge	82.00	Per Running metre	98.90	8110.00	Rupees Eight Thousand One Hundred & Ten Only
6.00	Providing and laying in position cement concrete 1:6:12 (one cement: six sand :twelve graded stone aggregate) bedding of specified grade including shuttering complete including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge	15.12	Per Cubic Metre	6153.30	93038.00	Rupees Ninety Three Thousand &Thirty Eight Only
7.00	Coursed rubble masonry coursed with hard stone of approved quality in foundation and plinth including racking out joint in Cement mortar 1:6 (One cement: six sand) including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge	5.65	Per Cubic Metre	5197.20	29364.00	Rupees Twenty Nine Thousand Three Hundred & Sixty Four Only
8.00	Re-fixing of railing with foundation bolt and nuts including making holes fixing fixture including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge	82.00	Per Running Metre	152.70	12521.00	Rupees Twelve Thousand Five Hundred & Twenty One Only
9.00	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering all work upto plinth level 1:2:4 (one cement: two coarse sand :four graded stone aggregate twent milimette size) including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineerin Charge	3.07	Per Cubic metre	6334.80	19448.00	Rupees Nineteen Thousand Four Hundred & Fourty Eigh Only
10.00	Providing and fixing at or near ground level precast cement concrete in kerbs, edging etc. as per approved pattern and setting in position with cement mortar 13 including the cost of required centering, shuttering complete. 1:1.5:3 (one Cement: one point five Sand: three Graded stone aggregate 20mm (twenty milimetre) nominal size including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge	3.57	Per Cubic metre	7059.30	25202.00	Rupees Twenty Five Thousand Two Hundred & Two Only
11.0	Supplying and spreading of sand in lawn area, including watering, and dressing complete including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge	12.14	Per Cubic metre	2240.15	27195.00	Rupees Twenty Seven Thousand One Hundred & Ninety Five Only
12.0	Mixing earth and sludge or manure in the required proportion specified or directed by the Officer-in-charge including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge	92.31	Per Cubic metre	38.80	3582.00	Rupees Three Thousand Five Hundred & Eighty Two Only

. (

13.00	Supplying and spreading of sand in lawn area, including watering, and dressing complete including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge	92.31	Per Cubic metre	50.35	4648.00	Rupees Four Thousand Six Hundred & Fourty Eight Only
14.00	Providing and laying Neelgiri/Mexican grass turf with earth 50mm to 60mm (fifty milimetre to sixty milimetre) thickness of existing ground prepared with proper level and ramming with tools wooden (Dhurmos) and than rolling the surface with light roller make the surface smoothen and light watering with sprinkler and maintenance for 30 days or more till the grass establish properly including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge	485.99	Per Square metre	78.90	38345.00	Rupees Thirty Eight Thousand Three Hundred & Fourty Five Only
15.00	Fine dressing of the ground including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge	485.99	Per Square metre	3.45	1677.00	Rupees One Thousand Six Hundred & Seventy Seven Only
16.00	Supply of PVC pot 14" dia Vectus or equivalent uniform colour and shape filled with mixture of good earth FYM,and healthy plant of 45 CM (Forty five centimetre) indoor plant of desired variety as per the direction and at the entire satisfaction of Engineer in charge. Including provision of wooden box made up of wooden plank tray 50mm x50mm vertical member to hold 32 mm x 10 mm (Thirty two into ten milimetre) wooden beeds with 10 mm (Ten milimetre) spacing. The size of box shall be 450 x450 x500 mm (Four hundred fifty into four hundred fifty into five hundred milimetre) including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge	20.00	Each	594.00	11880.00	Rupees Eleven Thousand Eight Hundred & Eighty Only
17.00	Providing and supplying of well containerized sapling of trees (size of plant should not be less than 2.5 ft. in height for prepared pits. The hedge plant & edging plants and edging plants for prepared beds. In the JNGEC premises at SNR, including carriage of materials in all lead and lit. Trees and shrubberies including carriage of material with in all leads and lifts and other incidentals and as per the direction of the Engineer-in Charge (i.) Roses	10	Each	70.00	700.00	Rupees Seven Hundred Only
17.01	Golden Bottle Brush	5	Each	90.00	450.00	Rupees Four Hundred & Fifty Only
17.02	Cupressus	5	Each	150.00	750.00	Rupees Seven Hundred & Fifty Only
17.03	Daffodils	100	Each	30.00	3000.00	Rupees Three Thousand Only

V.C

17.04	Ground cover different species	200	Each	20.00	4000.00	Rupees Four Thousand Only
17.05	Hedge/shrub different species	200	Each	40.00	8000.00	Rupees Eight Thousand Only
17.06	Tree plants of different species	10	Each	180.00	1800.00	Rupees One Thousand Eight Hundred Only
				Total:-	372079.00	Rupees Three Lakh Seventy Two Thousand &Seventy Nine Only

Executive Engineer, Thalout Division B&R, HPPWD Thalout